A. Choose the correct word.

Lexis and Grammar

Y

B. Which one is different? Choose the odd one out in each line.

1. shoes boots scarf

2 trainers  earrings cap

3. sunglasses  watch

4. trainers  sandals belt

C. Match the two columns.

boots

shoes

1. short

a. older than

2. good

b. more generous than

3. big

c. shorter than

4. old

d. thinner than

5. generous

e. better than

6. thin

f. bigger than

D. Choose the correct comparative form.

1. John is funnier / funny than Paul.

2. Cristiano Ronaldo is strong / stronger than Neymar.
3. Martin is intelligent / more intelligent than his friends.
4. Anne is better / good than Lisa at school.
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